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Note: 1. This paper contains 50 questions, @ach
guestion carries equal marks

2. Answers are 10 be given on a separate
answer sheel (OMR)

3. Use blue/black ball point pen anly

4, Chooserighl alternatives (1, 2. 3, 4) orme
guestions and dark on the same circle In
OMR sheet

5. MNow lurn to the next page and Sstan
answering the questions.
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1. Which of the following Indus civilisation site give

ence of a dockyard
(1) Harappa
(2) Mohenjodaro
(3) Lothal

(4) Rakhigarhi

(i?wmcn of the following country have an unwritten

constitution :
(1) USA
@ India
3) UK

(4) Pakistan

}/th:h amongst the following organised “Ashwa

Medha Yajya"
(1) Ajatshatru
(2) Ashoka
(3) Samundragupta
{4) Chandragupta

@Theodomummo(gmathTmm'
o

(1) Lal Kuwant
@ aamaamwf
(3) Ramtanu Pandey '

(4) Markandey

}/.a(pan's parliament is known as

(1) Diet
(2) National Assembly
(3) Yuan

(4) National Peoples Congress
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6. w2 wfms g e WSt w g g 8_.How many languagesararecognisedbythelndian
A 7

d Constitution
(1) 15 (1 15
(2) 18 2 18
(3 22 Q) 22
(4) 24 (4 24
7. R W % P S e e 2 Which article of Constitution of India says "No Chilg
B w3 F et i w=s F W Tm H below the age of fourteen years shall be employed
Y s s 2 10 work in any hazardous employment”
(1) 79z 24 (1) Article 24
(@ sy 45 (2) Article 45
@) =7z 330 @) Anticle 330
(4) s=57 368 (4) Article 368
8. v % wwen ety are wel farfiy fom w2 ~8. First national park developed in India is
(1) fm (1) Gir
(2 =fem (2) Sariska
(3) wrarTm _.. (3) Kaziranga
@) fam w4z (4) Jim Corbett
9. wrn vt iy W—xmm A9 InIndia, forest area accounts for about
CE R of land surface
(1) 22% (1) 22%
(@ 33% (2) 33%
(3) 14% (3) 14%
(4) 25% (4) 25%
10. Fr=fafem & 2 ot o 9 " = ot woh 40/Wmcn one of the following river forms an
€2 “Estuary’
(1) (1) Kaven
@ Fm (2 Krishna
(3) wers (3) Mahanadi

(4) T (4) Namada



1. W% 1 wE = ¢
(1) WA
(2) @
(3) *%
(4) =1 ==

12 A9 BY 0 VA wE feew fRasieen § a3

(1) Wt
(2) =W

(3) a1 Wy
(4) g

13. "' firn = afvsen'' o oifes stfiwer o8 = 2

(1) =215, 2010
(2) W= 01, 2010
(3) = 17, 2010
(4) sTFET 10, 2010

14 fresit F e mwew w1 9 Fefefes F 2 few

(1) ST FI AR IR
(2) M =g e
(3) wedardt w e

(4) wHETEY FT UREN HEN

15. f&m Toe & N W R W T 2

@) wiewT

@)

N _

77

11, Leading producer of Coffee s
(1) India
(2) Brazi
(3) Russia
(4) SnLanka

A2\ In Parhament session zero hour 1s at the discretion

~r

'J‘

(1) Pnme Minister
(2) Speaker

(3) Opposition Leader
(4) President

13. /"Rigt to Education” became a fundamental nght

on
(1) March 15, 2010
(2) Apnl01,2010,
(3) July17,2010"
(4) October 10, 2010

M Which one of the following battles led 1o the
foundation of Mughal rule at Deihi ?

(1) Third battle of Panipat
(2) Second battle of Panipat
(3) Battie of Haldighati

(4) First battie of Panipat

A15-Which Indian city is known as ‘Manchester of
_ ndla

(1) Delhu
(2) Kolkatta

| (3) Surat

CO (4) Ahmedabad

@ FEEEE "AMANS MATHS BLOGS.COM_




16. Wt & qpen wrems A fen i F gan

(1) 194748
(2) 1948-49
(3) 1849.50

(4) 1951-52

17 9emé 2013 7% w9 72 Tan TR S O 9 woa

ot & 7
m?7
@8
()
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18 SR R e A s M TR A g £ )

(1) fafems
(2) a9
(3) wFEITTE W

(4) *ien

19, %1 = T wfed ¥ fom wfng 2 7

(1) e
@ T
@) sifem
(4) wforge

20, wour fen §ifs =1 v £ 7

(1) s ifs
(2) Trwnita fifa
(3) ¥ Hify

(4) wragh if

(16) First Lok Sabha elections in India held in the |
year

(1) 1847.48
(2) 194849
(3) 1949.50

(4) 1851.52

An July 2013, number of coastal States in India
is ! 2 N

m 7
@8
@ 9
@ s

A(Whidtoﬂhofolﬂwhgstuleisandluthm:

(1) Sikkim

(2) Maghalaya

(3) Arunachal Pradesh
4) Goa

18. Which state is famous for Stepwells ?

(1) Maharashtra
@) Gujarat
(3) Odisha
(4) Manipur

20. Taxation isatoll of -

(1) Monetary policy
(2 Fiscal policy
(3 Price policy
(4) Wage policy
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21. What is ‘dual pricing' system

(1) Wholesale prices and Retail prices

@
(&)

Real prices and Monetary pnces

Prices fixad by Govemment and price in open
market

(4) Dally prices and weekly prices

22 7wz fo A | feus v & fam w1 s MmdolmmOnthemndmofmmwmbn
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24 CFLAMLED Y W v s gm & 2

M

3)

T I A S A CFLA s w1 oW 1
wfran, wafs LED &= & sigaee wodl =
e fEm W

LED ¥ %1 s9w1 CFL ¥ %1 Wtws w1
sn"mx'min

CFL &= %1 5w wwm LED #™= %1 sa wn
Laiil |

I FA H W R OA/EE H wWT wH

L
(1) ®a: 1
@ 153
@) 233

4) 1,2%3

Mass
Linear momentum
Energy

Angular momentum

23. Crocodiles store fat in |

™
@
®
1)

Head
Stomach
Tail

Anernies

_247 What is the difference between a C FL. and an
LED lamp?

(1)

()

To produce light, a C.FL. uses mercury
vapour and phosphor, while LE D lamp uses
semi-conductor matenal

The average life span of C F L. is much more
largerthan L.E D. lamp.

A, C FL isless energy efficient as compared
toanLED lamp

Which of the statement given above is/are
comrect

(1) Only 1
(2) 1and 3
(3) 2and 3
4) 1,2and 3
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25. fru m Freafafen 9vs =t § /g fea "25. Among the given nutrients, milk is a poor source

waAn w7 of
(1) #feras (1) Calcium
@ Wi (2 Protein
Q) fefa = (3) VitaminC
(4) wEEg: (4) Carbohydrate
26. TENTA ® STNN 9T 9RAt w1 SO 1O W 9 9y fs Most abundant @lement on the earth's crust by
e v R weight is
(1) #fwrms (1) Oxygen
(2 fafersiq (@) Silicon
(3) ™™ (3) Iron
(4) et (4) Aluminium
27 R & w9 o GEES ) heE Ben 2 277 Inwhole body mass the percentage of blood is
(1) 8% (1) 8%
(2) 9% (2) 9%
(3) 10% (3) 10%
) 1% @ 1%
28 feowt anfrafy & som fmfme M e £ . 28 The colour change in the chameleon is due 1o the
presence of
(1) wmwrEnta= (1) Haemogiobin
(2) HEEEE (2) Chromatophore
(3) w=mfEs (3) Chiorophyll
(4) iy (4) Pneumnatophore
20 ‘s v fema A A T . ~28_ "Fire-Fighting Clothes" are made from
(1) W% (1) Mica
(2) usETH (2) Asbestos
(3) *F% (3) Talc
(4) = (4) Steatite

30 % e Sae : \ 30 One Byte is equal 10

(1) 8fwm (1) 8 bits
@ 12%=  "AMANS MATHS BLOGS.COM @ 12bks
(3) 16FEH (3) 16 bits

(4) 207w (4) 20 bits



31 fafis B, w s #
M) =FEEE
@ vrarsife
@ vt
(@) Twgm

32 frafefan F @ fed RBCs & wfaam wm wm
27
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33 weR R}
(1) Tag ® O 3 Frert wen gfum
(@ =T = W WA
(3) fol wdfzs il g %7 ® wanr ¥ e
(@) R w I W T EEE

34 79 A F faEnE ] IO 2 w0 wES S oW
o ?

(1) frzsit
@2 wifEam wwEz
@) T
(4) 3w wotTE
35, ZIMETR wW T
(1) %A@ v S0 R
() #== fre v 2
® g s dah o @
(4) Tt ot frm B

31-What is the other name of Vitamin B, :

(1) Thiamine
(2) Haemoglobin
(3) Riboflavin

(4) Dextrose

A5 Which of the following s known as ‘grave yard' of
RBCs ?

(1) Liver

(2) Bone marmow
(3) Spleen

(4) Appendix

}3. Blubberisa :

(1) milky secretion of rubber plant
@ layer of thick fat
(3) devicetotrap insects by some aquatic plants

(4) fungal infection of nce plants

34, Permanent hardness of water may be removed by
< additionof -

(1) Alum
(2) Sodium carbonate
(3) Lime

(4) Potassium permanganate

&5 Atransformer works with :

(1) Altemating current only
(2) Direct current only

(3) BothA.C.andD.C,

(4) Any Signal



38 =5 F1 fy wan A9 v £ 3 Sound travels fastest in

(1) a1 9 (1) Water
@ 7+ @ Arr
@) wa# (3) Glass
@) e A (4) Glycenne
37, it W SRS T few AN W Em 2 A7 At what temperature will the density of water be
maxmum ?
(1) 0°C (1) 0°C
(@) 32'C (2 32°C
3) -4°C (3) -4°C
(4) 4°C 4) 4°C
36, vegH ¥ w0 o 2 38 Electron was discovered by
(1) e e (1) Ermest Rutherford
(2) WoR EE (2) Max Planck
(3) #mE ufgad (3) Joseph Thomson
(4) a2 smy=TT (4) Albert Einstein
39. wrpfirs il & wE w1 pH s fErn v # 2 39 pH value of natural rain water is :
(1) 58 (1) 56
(2) 62 @ 6.2
(3 70 3 70
) 75 @) 75
40, ¥ar wet A ¥ . £ Laughing gas is
(1) % st (1) Nitric oxide
@) M s 2 Nitrous oxide
(3) i = sfens (3) Nitrogen penta oxide

(4) (4) Nitrogen



41, Yrog fra @ fem e ¥ P e £ 2
" (1) wum Tam S
@ T
(3) W SR WA
@) wE UM

42 e frm we o A gms W) FEm s
e W W o 3 2013 W W T T S0 H
§ ?

(1) efim
@ W
(@) ==
@) =T
43, ferereit = fom ey @ vt 7
(1) Fm
@ fee=
@3) et
(4) xf=s

: ybehmdunmamoosmt

(1) Textile Industry

(2) Medicines

(3) Forest Research Institute
(4) Leather Industry

-

£2.Which scheme was launched in June 2013 for the

- J’"“WWWW”M
in the naxalite hit areas -

(1) Swabhiman

@ Roshni

(3) Sabla

(4) Ujawala

47 Mithali Raj belongs to which sports :

(1) Tennis

(2) Cricket

(3) Archery

(4) Badminton

44 W:msikwhﬂmd!mm A%, Who was appointed as Lt. Governor of Deihi in

. 7
(1) e ==
(@ it e o
(@) e win
(@) T el
45, SR fsz s ww 2015 W wom #
(1) W
@ steferm s gt
@) vas
@ dgm E

July 20137
(1) Tejinder Khanna
@ Banwari Lal Joshi
(3) NajeebJung
(4) Romesh Bhandari

45 Cricket World Cup 2015 will be hosted by :

(1) India
@ Austraiia and Newzealand
(3) England

(4) SouthAfrica



48 YT HI AR NI TR R ST s R 7

(1) =¥ma
@ wF

(3) stewm v fasrm g e

(4) Tty

‘( The largest Union Temitory of India is

(1) Chandigarh

{2) Puduchemy

{3) Andaman and Nicobar Island
(4) Lakshadweep

47. wrrATa wrvE W Prefetam o 8 fes w5 sy 47, Which city's local time indicates Indian Standard

HAG ) Toim & 2
(1) ¢ fxeent
@ ==

(3) wwEwm

(4) ‘wemereaT AMANS MATHS BLOGS.COM

48. S.|.M. fewwr wiigew w9 7 .
(1) T y=wioive Wi
(@ fomm smestefz ary

(3) wewsw syatiors Srogs

(@) wfem o d

49, T AW - W e ) wfem wifay v fam o

e I W o wifa .
ot - |

() s=urw

() s i ere
wHHE

(i =g aafas
formror womrett

v =i W= o
| SR

T T W W s

(Mi=¢c H=a Hi=b

@ i-c Hi=d Hi-=b

@ i=-b li-d ii-a

4 l=-d jl=c li=Db

50 Fr=fafes & 3 o @ gofts smes @ 5 faoe

= a2

(1) wrawem, ww0

v-d
v-2a
iv=¢c

v-a

@ v ferarsft 2ftlsm, g

) Fwoms sfy, foeeh
(4) W= WRR, WA

TS -l
(@) 2006
(b) 1997

(c) 2000

(d 1966

48

0.

/50

Time (I1ST)
{1) New Delhi
{2) Madras
(3) Kolkatta
(4) Allahabad
S.|LM. is the abbreviations of
(1) Signal Information Mode
(2) Simple Identity Mode
(3) Subscriber identification Module

(4) Sailing Intemational Matrix

Match the items given in List-l with those of
List— Il
List -1 List- 1l
(i) Antyodya Yozana (a) 2006
() Mahatma Gandhi ) 1667

National Rural Employment
Guarantee Programme

(W) Targeted Public {c) 2000
Distribution System

(v) Swam Jayanti Gram (d) 16868
Swarojgar Yojna

Select the correct answer

(i-c li-a ii=b iv-d
2 l=c =0 li=-b w=-a
@) i=-b Hi-d ii-a Iv=-c
4) i=-d Hi-c ii~b iv-a

Which one of these Indian monument is not
enlisted in 'UNECO'S WORLD HERITAGE
List ?

(1) TajMahal Agra

(2) Chhatrapati Shivaji Terminal, Mumbai
(3) Akshardham Temple, Delhi

(4) Jantar Mantar, Jalpur



